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This page depicts the analytical results of all 100 matrices generated by Congreve & Lamsdell [1] using a
ternary plotting approach [2], with quartets and partitions used as distance metrics.

0.1 Summary

Quartets Results for all datasets (means)
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Quartets Dataset 7: CI=0.27
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Quartets Dataset 17: CI=0.27
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0.6 Trees 41-50
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0.7 Trees 51-60
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Quartets Dataset 55: CI=0.28
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Quartets Dataset 59: CI=0.26
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0.8 Trees 61-70

Quartets Dataset 61: CI=0.26
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0.9 Trees 71-80
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Quartets Dataset 73: CI=0.28
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Quartets Dataset 77: CI=0.28
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Quartets Dataset 79: CI=0.24
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